Quiz for unit 5

I. Vocabulary and structure

Directions: There are 20 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the ONE answer that best completes the sentence . Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

1. A healthy life is frequently thought to be ______ with the open countryside and homegrown food. (1996.6 CET-4)

A. tied B. bound C. involved D. associated

2. The traditional approach ______ with complex problems is to break them down into smaller, more easily managed problems. (1996.6 CET-4)

A. to dealing B. in dealing C. dealing D. to deal

3. Young adults ______ older people are more likely to prefer pop songs. (1996.6 CET-4)

A. other than B. more than C. less than D. rather than

4. The new appointment of our president ______ from the very beginning of next semester. (1997.1 CET-4)

A. takes effect B. takes part C. takes place D. takes turns

5. It is not easy to learn English well but if you ______, you will succeed in the end. (1997.1 CET-4)

A. hang up B. hang about C. hang on D. hang onto

6. You should have been more patient _______ that customer; I’m sure that selling him the watch was a possibility.(1998.1 CET-4)

A. of B. with C. for D. at

7. The mad man was put in the soft-padded cell lest he _____ himself. (1998.1 CET-4)

A.injure B. had injured C. injured D. would injure

8. Living in the central Australian desert has its problems, _______obtaining water is not the least. (1998.1 CET-4)

A. for which B. to which C. of which D. in which

9. The shy girl felt _______ and uncomfortable when she could not answer her teacher’s questions.(1998.6 CET-4)

A. amazed B. awkward C. curious D. amused

10. He gives people the impression _______ all his life abroad. (1998.6 CET-4)

A. of having spent B. to have spent C. of being spent D. to spend

11. We need a chairman _______. (1998.6 CET-4)

A. for whom everyone has confidence B. in whom everyone has confidence

C. who everyone has confidence of D. whom everyone has confidence on

12. The course normally attracts 20 students per year, _______ up to half will be from overseas. (1998.6 CET-4)

A. in which B.for whom C. with which D. of whom

13. The speech which he made _______ the project has bothered me greatly.(1999.1 CET-4)

A. concerned B. being concerned C. concerning D. be concerned

14. This crop does not do well in soils _______ the one for which it has been specially developed. (1999.1 CET-4)

A. beyond B. rather than C. outside D. other than

15. These books, which you can get at any bookshop, will give you _______ you need.(2000.6 CET-4)

A. all the information B. all the informations C. all of information D. all of the informations

16. By law, when one makes a large purchase, he should have opportunity to change his mind. (2000.6 CET-4)

A. accurate B. urgent C. excessive D. adequate

17. In Disneyland, every year, some 800,000 plants are replaced because Disney refused to _______ signs asking his“guests” not to step on them. (2000.12 CET-4)

A. put off B. put down C. put out D. put up

18. This article ______ more attention to the problem of cultural interference in foreign language teaching and learning.(2001.6 CET-4)

A. cares for B. applies for C. allows for D. calls for

19. Mobile telecommunications ______ is expected to double in Shanghai this year as a result of a contract signed between the two companies. (2002.1 CET-4)

A. potential B. possession C. impact D. capacity

20. The statistical figures in that report are not ______. You should not refer to them. (2002.1 CET-4)

A. rigid B. delicate C. fixed D. Accurate

II. Fill in the following blanks with correct adverbs or prepositions.

1. He asked me ______ help.

2. We started with soup, and had fruit to end ______.

3. He put ______ his helicopter in the field.

4. He was involved ______ the traffic accident.

5. I prefer to work rather ______ idle.

6. This book is full of references ______ places that I know well.

7. I made an application ______ the job.

8. Most people have sympathy ______ the weak.

9. I’m very grateful ______ you for your help.

10. Most housewives are responsible ______ housework.

III. Choose the best that completes the sentences.

1. It is quite necessary for a qualified teacher to have good manners and _______ knowledge.

A. expensive B. expansive adj. C. extensive D. intensive

2. Metals _______ when heated.

A. extend B.spread C. expand D. widen

3. The factory is running at full _________.

A. capacity B. capability C. length D. possibility

4. If you want to know the train schedule, please _______ at the booking office.

A. acquire B. request C. require D. inquire

5. Anything that______the nature interests us.

A.matters B. importances C. subjects D. Concerns

IV. Choose the best answer to each question with the information from each passage. Passage 1

PASSAGE 1

   Dr. Wigoda has been licensed by the states of Texas, Utah, and Florida. He is certified as a diplomat (外交官)of the national board of medical examiners. Dr. Wigoda has been a member of the Texas Medical Association, and the Utah Medical Association. He is a current member of the American Medical Association.

   Dr. Wigoda is a member of the American Society of Plastic Surgeons. This organization plays an important role in the continuing medical education of plastic surgeons as well as in the education and protection of the health-care consuming public. Dr. Wigoda is also a candidate member of the American Society for Aesthetic Plastic Surgery. This society serves as a forum for the advancement of plastic surgical techniques, education, and technology utilized in cosmetic surgery. It also strives to protect the public education regarding appropriate criteria for choosing a qualified surgeon and assessing the safety of the operating environment.

   In a very short time, Dr. Wigoda has made a name for himself in the South Florida community. He is known for the quality of his work and for the care he provides his patients. He is often sought out by the local news media and by producers of television shows for his expertise in both cosmetic and reconstructive surgery. Dr. Wigoda is often asked to speak to local groups and has been featured on numerous television shows and newscasts that have been shown locally, nationally, and/or internationally.

1. The first paragraph tells us that Dr. Wigoda is ____.

A) a diplomat B) a surgeon C) an examiner D) a social activist

2. From the context, we can guess that a “plastic surgeon” ____.

A) does cosmetic surgery

B) serves as an educator

C) is responsible for the advancement of surgical techniques

D) protects the public for choosing a qualified surgeon

3. Wigoda is renowned for everything except ____.

A) hardworking B) patience C) diplomacy D) shrewdness

4. Why was Mr. Wigoda hunted by the media?

A) He had an affair.

B) He was a popular show host.

C) He was famous for his knowledge in plastic surgery.

D) He was a spokesman of the local government.

5. What is the author’s attitude to Mr. Wigoda?

A) Sarcastic. B) Complimentary. C) Disgusted. D) Indignant. 

PASSAGE 2

  “Engines of Tomorrow,” by former Business Week technology editor Robert Buderi, is a serious look at the role corporate research plays in long-term business success.

   Despite a perception that such activity has been dramatically reduced in recent years, Buderi says, the opposite is actually true among today’s global business leaders.

   In truth, there are now almost 13,000 corporate labs in the US alone, employing some 700,000 scientists and engineers who spend about US $ 150 billion annually. And this is the prime area where new knowledge is converted into useful products, and where success and failure can be most plainly measured in terms of patents, market share, sales, stock prices. In “Engines of Tomorrow,” Buderi takes us into some of America’s most successful companies-as well as top European and Japanese competitors-and describes in detail their ground-breaking work in science, technology, and the management of innovation.

   Focusing on the fast-paced areas of communications, computers, and electronics, he explores the essential role of research in determining business strategies. He tells us why IBM’s eight labs around the world play a big part in achieving consistent double-digit growth. Why Xerox’s research centre has sent anthropologists into the field and is strengthening its research in the social sciences.

  Buderi examines management philosophies, funding strategies and incentive programmes.

  He documents how major US corporations have cut their basic research budgets in favour of projects with a better chance of producing profits in the short term. But he also argues that these same companies are carefully moving into that area again, now that the financial constraints of the early 1990s are behind them.

6. The role that corporate research plays in long-term business success is ____.

A) potential B) immediate C) impossible D) none of the above

7. Which of the following is true?

A) Present global business leaders are doing more and more corporate researches.

B) Less corporate researches are done recently.

C) People no longer believe in corporate researches.

D) Both A and B.

8. In what way can success and failure of a corporation be measured according to the author?

A) In the way of employing scientists and engineers to spend billions of dollars a year.

B) In the way of doing corporate researches.

C) In terms of patents, market share, sales, and stock prices.

D) Both B and C.

9. What is the function of corporate research according to the article?

A) To establish the management strategies of a company.

B) To tell why some companies make greater achievements.

C) To investigate why social scientists participate in corporate research.

D) All of the above.

10. According to the last paragraph, major US corporations ____.

A) are cutting down research budgets in order to make more profits in the long run

B) moving into financial difficulties

C) are adding money to corporate research

D) are more interested in short-term profits

V. Answer the following questions with the information from the passage.

    Einstein was born in Ulm, Germany on Mar. 14, 1879. Einstein’s parents, moved from Ulm to Munich when Einstein was an infant. The family business was the manufacture of electrical parts. When the business failed, in 1894, the family moved to Milan, Italy. At this time Einstein decided officially to relinquish ( 放弃) his German citizenship. Within a year, still without having completed secondary school, Einstein failed an examination that would have allowed him to pursue a course of study leading to a diploma as an electrical engineer at the Swiss Federal Institute of Technology. He spent the next year in nearby Aarau at the cantonal (州的、市区的) secondary school. Einstein returned in 1896 to the Swiss Federal Institute of Technology, where he graduated, in 1900 as a secondary school teacher of mathematics and physics.

   After two years he obtained a post at the Swiss patent office in Barn, where he completed an astonishing range of publications in theoretical physics. For the most part these texts were written in his spare time and without the benefit of close contact with either the scientific literature or theoretician colleagues. Einstein submitted one of his scientific papers to the University of Zurich to obtain a Ph. D. degree in 1905. In 1908 he sent a second paper to the University of Bern and became a lecturer there. The year Einstein received a regular appointment as associate professor of physics at the University of Zurich.

   By 1909, Einstein was recognized throughout German-speaking Europe as a leading scientific thinker. In quick succession he held professorships at the German University of Prague and at the Swiss Federal Institute of Technology. In 1914 he advanced to the most prestigious and best-paying post that a theoretical physicist could hold in central Europe, professor at the Kaiser-Wilhelm Gesellschaft in Berlin.

1. Where was Einstein brought up?

2. How did Einstein complete secondary school ?

3. What diploma did Einstein have?

4. What did Einstein earn from the University of Zurich in 1905 ?

5. Where was Einstein recognized as a leading scientific thinker by 1909?

VI. Translate the following into Chinese

1. Outside of work, I really like following all aspects of the financial world.

2. When you need current information and you need it now, there is no alternative.

3. The Web is extensive, relatively easy to access, and provides virtually unlimited information.

4. Never underestimate the impression you may make on others.

5. I appreciated now how patient, understanding, and kind she was to have spent her time on a little boy.

VII. Translate the following into English

1. 通过实践，我们很快学到了英语。
2. 我对这项工作提出申请。
3. 他总是行为端正。
4. 想象一下没有电的生活。
5. 他那时在看电视而不是看报纸。

Key to Quiz for Unit 5

I. 1. 答案为D。[考点及解析] tie( 系，捆)，bound up with 表示“与…有密切关系”，associate with 意为“联系；联合；结伙；结交”；be/become/get involved in sth/with sb 意为“与某事( 某人) 有关连”。注意它们的区别。句意为：人们经常将健康的生活与开阔的乡村和自家种的食物联系在一起。
2. 答案为A。approach to 是固定搭配，其中为to 介词，后面不可跟动词原形。句意为：处理复杂问题的传统方式是将其分解为小的、容易处理的问题。
3. 答案为D。[考点及解析] 主句中已有比较级标志词more，故B、C 可排除。other than 意为“不同于；除了…以外”，不合句意。rather than 表示“( 做)…而非…”。句意为：年轻人比年长者更容易喜欢流行歌曲。
4. 答案为A。[考点及解析] 本题测试点是动词短语的用法。Take effect 意为“生效；秦效；实施；实行；起作用”。又如：His appointment takes effect from March 1( 他的任命自3 月1 日起生效)。Take place 表示“发生；进行”。Take part (in) 意为“参加，协助”。Take turns 意为“轮流”。只有(A) 与句意吻合。句意为：新校长的任命从下学期开始生效。
5. 答案为C。[考点及解析] 本题测试点是短语动词的用法。hang up 意为“挂起来；挂断( 电话)”。Hang about 表示“闲待着；徘徊；逗留；等着”。介词onto 相当于on to，用于元音之前或句尾。hang onto 意为“紧握某物”，而且后面应跟宾语。hang on 表示“紧握，坚忍”，例如：It’s hard work, but if you hang on long enough you’ll succeed( 这是艰苦的工作，但如果你坚持下去，你会成功的)。举一反三：hang 作为规则动词，意为“处以绞刑，绞死”，其一般过去式和过去分词都是hanged。hang 表示“挂，吊，悬”时是不规则动词，其过去式和过去分词为hung。句意为：学好英语并非易事，但只要你坚持不懈，你最终会获得成功。
6. 答案为B。[考点及解析] 本题测试点是习惯用法。patient with sb. 意为“有耐性的；忍耐的；容忍的”。例如：be patient with a tired child 对疲倦的小孩要有耐性。be patient of sth 是一种古典用法，意为“能忍受”。句意为：如果你对那位顾客再耐心些，我相信他有可能会买这块表。
7. 答案为A。[考点及解析]在由lest( 书面语) 引起的从句中用虚拟语气，表示“唯恐”，谓语动词多由may/might/can/could/should+ 动词原形构成，should 也可省略。例如：I always speak slowly lest I should bemisunderstood. (should 也可以省略) 句意：这个疯子被关进一间用软垫防护的小室内，以免他弄伤了自己。
8. 答案为C。[考点及解析]这是一个常见的非限制性定语从句，根据先行词problems 和引导词which 之间的意思、逻辑上的关系，可知应用介词of。句意：生活在澳大利亚沙漠中有一些麻烦，其中获取水还不是最严重的。
9. 答案B。amazed 意为“惊奇的”，awkward 表示“尴尬的”，curious 是“好奇的”，amused 是“好玩的，有趣的”。句意：这个羞涩的女孩回答不上老师的提问时，感到很尴尬、不自在。
10. 答案A。[考点及解析]根据impression 的习惯用法，后接of，排除B、D 两项；根据句意，被选项应该采用主动形式，因为He 是spend 这一行为的发出者。句意：他给人一种一生都在海外度过的印象。
11. 答案B。[考点及解析]注意confidence 构成的两个短语：have/place confidence in 意为“信任；自信”；(be) feel confidence of /(that 从句) 表示“确信”。句意：我们需要一个每个人都信赖的主席。
12. 答案D。[考点及解析] 题干中的up to 是一短语，意为“直到，将近，达到”。本题测试点是非限制性定语从句结构。首先可以确定：定语从句中的关系代词的先行词是students，代词指代人，所以A、C项可排除。half of 是固定搭配，所以选D。将本句进行分解就很容易理解了：The course normally attracts

20 students per year (up to ) half of them will be from overseas.句意：这门课一般每年有20 个学生选，其中将近一半来自国外。
答案C。[考点及解析] concern 是一个及物动词，意为“涉及”。concerning 则是一个介词，意为“关于”。句意：他所做的关于那个项目的讲话使我感到很厌烦。

14. 答案D。[考点及解析] other than 是一成语，意为“不同于，除了…以外”，例如：All parts of the bike other than the brakes are in good condition. 除了刹车，这辆自行车的其他部件都很好。rather than 意为“( 做)…而不…”，例如：Rather than accelerate the reaction this compound will bring about the side reaction.这种化合物没有使反应加快，而是引起了副反应。句意：除了这种土壤，这种作物在其他土壤中都生长不好，因为这种作物是专门为这种土壤培育的。
15. 答案A。[考点及解析] 本题考查的是不可数名词的用法。information 是不可数名词，无复数形式。它有两个意项： ①通知，报告； ②消息，情报，知识。本题中是第2项意思。其常与介词on或about搭配，如：Can you give me any information of/about this matter? 句意：这些你可以在任何书店买到的书，将给你所需要的全部信息。
16. 答案D。[考点及解析] 本题考查词义辨析。accurate“准确的”；excessive“过多的，过度的，极端的”；urgent“紧急的”；adequate“令人满意的，适当的，足够的”。句意：按照规矩，当一个人进行大宗购买时，他应该有充分的机会反复斟酌。
17. 答案D。[考点及解析]whatever (however, wherever, wherever...) =no matter what (how, when, where...)。从语法上来分析，whatever 可作代词、形容词；however 及wherever 既可是副词又可是连词；whenever 是连词。而本句显然是缺一个修饰名词difficulties 的形容词；从意思上来看，也只有whatever 合适。句意：无论我们遇到什么困难，都会相互帮助克服困难。
18. 答案D。[考点及解析] care for ( 照顾，照料；喜欢)；apply for( 申请，请求)；allow for ( 考虑到，顾及，为…留出余地)；call for ( 叫< 某人> 来；要求，需要)。句意：这篇文章要求在外语教学中注意文化影响问题。
19. 答案 D。[考点及解析] potential a. 潜在的，可能的n. 潜力，潜能；possession n. 持有；具有；<pl.> 所有物；impact n./v. 影响，作用；冲击，碰撞；capacity n. 容量，容积；才能，能力；身份，职位。句意：由于这两个大公司签署了合作协议，今年上海移动通信的容量有望翻一番。
20. 答案 D。 [考点及解析] rigid 严格的，死板的；刚硬的，僵硬的；delicate 易碎的，脆弱的；微妙的，棘手的；娇弱的，纤细的，精美的，雅致的；fixed 固定的；规定的；不变的；accurate 正确无误的；准确的，精确的。句意：那个报告中的统计数据不准确，你不应该参考它们。

II. 1. for。他请求我的帮助。【解析】ask for 意为“要求，请求”。
2. up with。我们以喝汤开始，以吃水果结束。【解析】end up with 意为“最后成为, 结果为”。
3. down。他把直升机降落在田里。【解析】put down 意为“控制，压制，制止，镇压, 着陆”。
4. in。他卷入了这场交通事故。【解析】be involved in 意为“卷入，介入，与…有关”。
5. than。我愿意工作而不愿意闲着。【解析】rather than 意为“与其( 某人/ 某事) 说是…不如说是，不愿,不要, 不是”。
6. to。这本书里提到很多我非常了解的地方。【解析】references to sth. 谈到，提及;关于
7. for。我对这项工作提出申请。【解析】an application for sth.[尤指正式和书面的]申请，请求，申请书
8. with。多数人同情弱者。【解析】sympathy with sb. 同情，同情心
9. to。非常感谢你帮了我【解析】be grateful to sb.for sth. 为某事感激某人。
10. for。多数家庭主妇负责做家务活。【解析】be responsible for sth. 负责…

III. 1. C。一位称职的教师必须行为端正，知识渊博。【解析】近形词辨析题。extensive adj. 广泛的，广博的expensive adj. 昂贵的 expansive adj. 扩张性的 intensive adj. 加强的，集中的
2. C。金属受热膨胀。【解析】同义词辨析题。expand v. 由于内部或外部的力量使物体扩大，extend v. 延伸；( 范围) 扩大，spread v. 传播；扩展，widen v. 加宽
3. A。这家工厂全力进行生产。【解析】本题考查名词辨析。capacity 能力，才能，capability 能力，才能；性能，潜能，length 长度，possibility 可能性。
4. D。如果你想知道火车运行时间表，请问售票处。【解析】近形词辨析题acquire 获得，request 请求，要求，恳求，require 要求，inquire 询问。

5. D。与自然有关的一切我们都感兴趣。【解析】同义词辨析题。matter 有关，常用于否定句; subject 科目；importance 重要性；concern 与…有关

IV. 1. a 2. a 3. d 4. c 5. b 6. a 7. d 8. d 9. d 10. C

V. 1. In Munich, Germany.

2. With some difficulty.

3. He had a diploma as a secondary school teacher of mathematics and physics.

4. Einstein earned a doctorate from the University of Zurich in 1905.

5. In the European countries where German is spoken.

VI. 1. 工作之余，我对金融界的一切都非常感兴趣。
2. 要是你马上就需要最新的信息的话，除了网络你别无选择。
3. 互联网覆盖面广，上网也较容易。互联网提供的信息几乎是无穷无尽的。
4. 决不能忽视你可能带给别人的印象。
5. 这时候，我体会到她肯把时间花在小孩子身上是多么有耐心，多么体贴，多么善良。

VII. 1. We have acquired English quickly through practice.

2. I made an application for the job.

3. He always conducts himself well.

4. Just imagine the life without electricity.

5. He was engaged in watching TV rather than reading the newspaper.

